Problem Wk.1.4.7: Palindrome [Optional]

Write a procedure, called isPalindrome, that takes a string as an argument and returns
True if the string is a palindrome, that is, if the string is identical to the reversed string.
It should return False otherwise.

Some examples are:
"able was 1 ere | saw elba*
Note that this works even with the spaces.

The one below would require removing the spaces to be a palindrome:

"a man a plan a canal panama*
"amanaplanacanalpanama”

For this problem, we will not consider it a palindrome.

Note that you can check for a palindrome without needing to actually reverse the string
by pairing up the appropriate letters to test. Try to do it that way.

Recall that str[-n] gives you the nth character counting from the end, so x[-1] is the
last character in the string.
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